lim 2x.cotx
x—=0

limitinin degeri kagtir?

A) 0 B) o

lm ——(6x—1)

x—om 2X

limitinin degeri kagtir?

A) =3 B)0

, | \
lim ——x) . tanx
X )-1'.2 /

2

limitinin degeri kagtir?

A)n B) 1

lim (Ile.sin %J
X =00 !

limitinin degeri kagtir?

AJE B)O

lim x.sin 3
x—0 X

limitinin degeri kactir?

A) oo B) 3

lim 6x.cosec3x
x—0

limitinin degeri kagtir?

A) 0 B) 1

lim (x + 1).tan ==
x—>—1( ) 2

limitinin degeri kagtir?

C) 1

C) 1

C)1

C)0

C)2

D) 2

D)2

D) -1

D) 2

E)3

E)=n

E) 4



1 2
A}-n B)_g; C)n
8, lim (cot2x . tanx)
x—=>0
limitinin degeri kagtir?
1
A)—1 B]_ff C)o
WWW.SUPErsoru.com
Cevaplar :

1)D, 2)E, 3)B, 4)E, 5C, 6)C, 7)B, 8)D,

N[ =

N A



